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World time changed
by more than 0 ms.
Initiate update of
internal timeline
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Thisis are of a race

condition: Thread A is still
using a reference to T1,

which was reassigned to a

new timer T2 by Thread C

Lock Timing Wheel

Insert Timer T1

Unlock Timing Wheel

Lock Timing Wheel

Cancel timer T1

Build list of Expired Timers

Cancel timer T1: Waiting for Timing Wheel Lock
Unlock Timing Wheel

New Timeout Request (T2)

Call Expired Timers Callbacks

Timer T1 callback invokes free_ptimer()
Create Timer ErtsSmpPTimer for T2

Free ErtsSmpPTimer memory block
Allocate ErtsSmpPTimer for T2, block reused!
erl_set_timer invoked for T2

Lock Timing Wheel

Insert Timer T2

Unlock Timing Wheel

Lock Timing Wheel

Remove ex-T1 == T2 from the timing wheel
Unlock Timing Wheel



